Answer Sheet for General Intelligence.

Give yourself exactly 12 minutes to answer these questions. You have to choose the
answer you think is correct, by darkening the box on the answer sheet which
corresponds with the answer you choose. As an example; if ‘C’ was the answer you
choose, you would darken the box marked witha‘C’. |A||[B|[C|[D]|E]
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(A] [B] [c] [D] [E] 26. |[J] [k] [L] [M] [N]
(3] [k] [L] 27 [Aa] [B] [c] [D] LE]
[A] [B] [c] [D] [E] 28. |9 ] [K] [L] [M] [N]
(3] [k] [L] 29. [A] [B] [C]

(A] [B] [c] [D] [E] 0. [J] [k] [L] [mM] [N]
(3] [k] [L] [M] [N] 1. [A] [B] [c] [Dp] [E]
(A] [B] [c] [D] [E] 2. [J] [K] [L] [M] [N]
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LA] [B] [c] [D] [E] 4. [J]| [K] [L] [M] [N]
(3] [k] [L] [M] [N] 4. [A] [B] [c] [D] [E]
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A] [B] [c] [D] [E] 48. [J] [k [L] [M] [N]
(3] [k] [L] [M] [N] 4. [A] [B] [c] [D] [E]
[A] [B] [c] [D] [E] 50. [J] [K] [L] [M] [N]




Practice Sample Test for General Intelligence.

This is a test of problem solving skills. All questions must be answered without using
a calculator, dictionary or other resource. There are 50 questions on this test. The
guestions become harder as you get further into the test. Give yourself exactly
twelve (12) minutes to answer these questions. Many people do not finish all of the
guestions, but do you best. Random guessing is not likely to improve your score. Do
not skip around or spend too much time on any one question. Record your answers
on the Wonderlic answer sheet. Answer as many questions as you can in the time
allowed.

1. Which of the following is the earliest date?
A) June 6, 1996 B) July 9, 1969 C) March 27, 1996
D) June 9, 1969 E) July 9, 1999

2. The words COMPLEMENT and COMPLIMENT have ? meanings.

J) similar K) contradictory L) unrelated

3.  Whatis the next number in the series? 24 31 38 45 52

A) 54 B) 23 C) 65 D) 59 E) 44

4. If the first two statements are true, is the final statement true?

Anthony’s favourite colour is blue.
Blue isn’t Emma’s favourite colour.
Simon’s favourite colour is red.

J) yes K) no L) uncertain

5. SUNSCREEN is to SUNBURN as VACCINATION is to ?

A) doctor B) patient C) heat D) needle E) disease

6. 25x_7 =16.

J) 5.6 K) 6.4 L) 6.5 M) 6.2 N) 5.3

7. Which of the following numbers is the smallest?

A) .061 B) .0161 C) .0061 D) 0.116  E) 0.0016
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Rearrange all of the words inside the box to make the best sentence. What is

the first letter of the third word in the corrected sentence?

bikes to woods Emma school the through

J) s K) t L) w M) e N) b

The words URGE and DETER have ? meanings.

A) identical B) opposite C) unrelated

If fish sell for $1 each and chips sell for 75c, how many of each were sold for a

total of $8.25?

J) 9 chips

K) 3 fish and 6 chips
L) 1 fish and 7 chips
M) 2 fish and 9 chips
N) 8 fish

Which of the following is the latest date?

A) Feb 20, 1992 B) Jun 14, 1929 C) May 31, 1992
D) Jun 6, 1929 E) Oct 14, 1992

If the first two statements are true, is the final statement true?

Anthony is taller than Simon.
Simon is taller than Emma.
Emma is taller than Anthony.

J) true K) false L) uncertain

Fill in the missing number in the series? 23 26 20 23 17 _ ?

A) 23 B) 26 C) 20 D) 14 E) 13

One word below appears in colour. What is the OPPOSITE of that word?
The driving instructor provided very subtle criticism at the end of the test.

J) canny K) lurid L) astute M) quick N) keen



15. The total cost of 7 apples is $12.50. How much will 11 apples cost?
A) $19.60 B) $20.40 C) $18.30 D) $16.90 E) $20.20
16. THEME is to SONG as INTRODUCTION is to ?
J) song K) essay L) music M) theory N) blog
17. Which THREE of the following words have similar meanings?
A) argonaut B) saurian C) lethargic D) indolent E) lazy
18. A prescription costs $14.23 and you pay with a $20 note. How much should you
get back in change?
J) $4.67 K) $5.77 L) $2.50 M) $6.43 N) $5.23
19. The words REFUTED and IRREFUTABLE have ? meanings.
A) contradictory B) similar C) unrelated
20. Which of the following numbers is the smallest?
J) 7 K) -9 L) 1 M) -61 N) 10
21. Which THREE choices are needed to create the figure on the left? Only pieces
of the same symbol may overlap.
X | = = = = X
= x| X X = | x X X = X
A B C D E
22. Which month is 5 months after March?
J) May K) June L) July M) August N) September
23. Cow isto Milk as Orange is to ?

A) juice B) apple C) soda D) coffee E) pear
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A ¥, of a metre is equal to metre/s?

J) 0.25 K) -2 L) 0.1 M) 20 N) 25

Choose the word that doesn’t belong.

A) river B) sea C) lake D) pool E) ocean

Over 14 days Lachy saved $42. What is his average daily savings?

J) $5.00 K) $6.00 L) $3.00 M) $250  N) $3.50

A jet travels 100 metres in -5 seconds. At this rate of speed, how many metres
will the jet travel in a minute?

A) 600 B) 1200 C) 3000 D) 12000 E) 30000

Over a five month period, the price of butter at the local supermarket has
fluctuated with monthly averages of $5.45, $7.17, $5.61, $6.65 and $5.22 per
pound. Which graph is the most accurate representation of these values?
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The words BEAT and POUND have ? meanings.

A) similar B) contradictory C) unrelated

Which of the following words doesn’t belong?

J) argument K) alteration L) dispute M) accord N) feud

What is the average of the following numbers? 5506, 5508, 5510, 5512

A) 5500 B) 5508 C) 6000 D) 5509 E) 5000
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Anthony got a 2% raise in his salary. If his original salary was $160000, how
much is it after his raise is implemented?

J) $163,200  K) $168,600 L) $164,500 M) $166,600 N) $162,800

If the first two statements are true, what is the third?

Emma is very smatrt.
Anthony is smarter than Simon and Emma.
Emma is smarter than Lachy.

A) true B) false C) uncertain

Which of the following words doesn’t belong?

J) wretched K) nefarious L) abhorrent
M) honourable N) despicable

Over the course of 2 weeks, Simon spent $105.00 on his lunch.
What was Simon’s average cost per day?

A) $7.50 B) $8.05 C) $7.25 D) $6.50 E) $5.75

The words BREAK and FAULT have ? meanings.

J) similar K) contradictory L) unrelated

Which THREE of the following words have similar meanings?

A) strain B) robust C) sturdy D) painless E) hardy

A test has 30 questions. If Simon gets 70% correct, how many questions did
Simon get wrong?

J) 7 K) 8 L) 9 M) 10 N) 6

RAVENOUS is to HUNGRY as ? is to HAPPY.

A) parched B) ecstatic C) depressed D) patient E) content
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Which THREE cubes need to be combined in order to create the cube on the
far left? Notice that the colours cannot overlap, however identical colours can.

Which THREE of the following words have similar meanings?

A) stout B) assert C) proclaim D) establish E) resolute

If the first two statements are true, is the final statement true?

Emma plays volleyball.
Emma is a sportswoman.
Emma plays netball.

J) yes K) no L) uncertain

The volume of a room that is 23 metres long, 10 metres wide and 8 metres high
is:

A) 2000 cubic metres B) 1820 cubic metres C) 1200 cubic metres

D) 1680 cubic metres E) 1840 cubic metres

After folding these squares into a
closed cube, which shaded corner
would touch the corner ‘X'?
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Emma and Lachy scooped 60 ice creams yesterday. If Lachy scooped 35% of
the ice creams, how many ice creams did Lachy scoop?

A) 15 B) 18 C) 21 D) 27 E) 35
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If the first two statements are true, is the final statement true?

Simon is a qualified pilot.
Simon owns a single engine plane.
Simon knows how to land a plane.

J) true K) false L) uncertain

The words INFALLIBLE and IMPECCABLE have ? meanings.

A) similar B) contradictory C) unrelated

Which THREE of the following words have similar meanings?

J) practical K) course L) viable
M) solid N) constructive

A pool is 10 metres long and 6 metres wide. How many metres deep is the pool

if it holds 300 cubic metres of water?

A) 9 B) 5 C) 15 D) 3 E) 2

Emma spent $16.50 total at the fruit shop. She bought 2kg of apples, 2kg of
bananas and 3kg of pears. If apples are $2.20/kg and bananas are $3.60/kg,

what is the price of the pears?

J) $1.40 K) $1.60 L) $1.80 M) $2.20  N) $2.40



